o~ ul M
AR o
;;:1( :" ﬁ g o & o
dor Ex @ uB
al, ¢ G . 8 Z-
ALLE ol ou o d® QF
(: ) =t wt =5 Wb
l‘;\:p'-. c2 Gk 2w
(’? “ . O X E o] o % z
&HX pf W <02 G0
i 57 558 82
8 - 33s 88
43.75" MAX . 58° ¢
123 NE Beacon Dr. FRAME WIDTH S o
Grants Pass, OR 97526 g Z0. Of
§ 509 Bu
i oo sg
) § =
c 0nkE
" " ! X g8
Impact-Rated Door :
WOOD GLAZED OR OPAQUE J "
/ > LIE
SO
: Ly
RADIUS TOP SINGLE DOOR B>
<
_ 5] E% =0
INSWING /OUTSWING o 2 3 | 8z
Z S NISI RS
<= <2 we |8 o <
oz o= 29 (3] 2
< = : g X 8% 7] = [%2]
[ > 7)) L
<I <5 & < Fx
= % =20 5 v g ?
wn = o (@)
~nT &= 3 | =
2z S ol / © g «
" 4 5|8
(NI
EVALUATED FOR USE IN THE STATE OF TEXAS i &
The Wood Door system described herein complies with the 2006 International ©
Residential Code (IRC), Sections R301 & R413 and the 2006 International Building
Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and 2404 (including Texas
revisions) subject to the following conditions:
1. Anchors shall be as listed and spaced as shown in the details. Anchor n
embedment to base material shall be beyond wall dressing or stucco. | g
2. This product has been tested and evaluated as a large missile impact %)
protective system for installation in the Seaward, Inland | and Inland Il areas. o
The door meets missile level "D" as defined in ASTM E 1996. o
3. Allowable design pressure requirements must be equal to or less than the
design pressure rafing shown i in the design pressure chart sheet 1 of this
drawing.
4. Conditions not covered by this drawing are subject to further engineering
analysis. .
5
TABLE OF CONTENTS DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF) i
SHEET # | DESCRIPTION CONFIGURATION INSWING OUTSWING %
1 Typical Elevations, Design Pressures & General Notes
2 Door Pangl Detals POSITIVE NEGATIVE POSITIVE NEGATIVE oate: 7/31/17
3 Horizontal & Vertical Cross Sections X +65.0 -75.0 +465.0 -65.0 SCALE:  N.T.S.
4 Vertical Cross Sections . . . : owe. B:  JK
5 Frame Anchoring -
6 Hardware Details gt:mz; = Ly
7 Bill of Materials & Components -
TX—4711

SHEET 1 oF 7

Ri\Clients\Rogue Valley Doors PERMANENT\B - Texas Dept of Ins\TDI - DR-XXX (Sub ID 6970)\C - Drawings\TX-4711.dwg, TX-4711

© 2017 R.W. BUILDING CONSULTANTS INC.



R:A\Clients\Rogue Valley Doors PERMANENT\B - Texas Dept of Ins\TDI - DR-XXX (Sub ID 6970)\C - Drawings\TX-4711.dwg, 2.6

|

5.5"

7

222" =

STILE /

(1/16" VENEER) Gl

/"1 "\ HORIZONTAL CROSS SECTION

i 5.5" '

‘ EXTERIOR EXTERIOR
\: q [
(o] >3
PN 7
INTERIOR

STILE
(1/4" VENEER)

/"2 HORIZONTAL CROSS SECTION

A2/

41.94" PANEL
WIDTH
31" MAX.D.L.O.
WIDTH
>
- /
I
O
2 /| | e
= 9\2/| |Y
s o
wn
g ~
= \ / °
n @
2
<~
\2/ OPAQUE
34
2 N2/
3/4 PANEL/LITE
40 WOOD DOOR PANEL
Rogue Valley
Glazed or Opaque
WOOD DOOR COMPONENTS:

VENEER/EDGES: DOUGLAS FIR (G =0.51)

\2/

16 GA. X 1-1/4" BRAD )
NAILS (1-1/2" FROM 9/16" GLASS BITE
ENDS & 7" O.C.) oA

EXTERIOR — 1"THICK GLASS
5/32" TEMPERED GLASS
:f—_ AIR SPACE

NN

//J \\ 3/16" ANNEALED GLASS
]

INTERIOR  pOW 995 STAINLESS STEEL SPACER

<: :> GLAZING DETAIL

= =

I/

3/4" PANEL - PLYWOOD

_DOW 995 w/ VENEERED FACES
@ PANEL INFIL DETAIL

[ 025

Ui

\——L 0.625"
. GLAZING BEAD

~—1 ’<\ 0.375"

ENGINEERED STAVE CORE: POPLAR (G =0.42)

7
_ % S 3/16" ANNEALED GLASS /M
< 0.090" SENTRYGLAS® INTERLAYER
_/_—/.\
——

INTERIOR |‘ 22 *I

TOP RAIL

N

MID RAIL

INTERIOR

RAIL

//
=0=
BOTTOM / ¥
v

- H‘W_
dﬁ%

5.5"

5.5"

EXTERIOR

8.5“

1/16" VENEER —=—|=—

/~3"\ VERTICAL CROSS SECTION

N2/

TOP RAIL

BIRCH DOWELS:
5/8'@X5'@
2-1/4"0.C. (TYP.)

A

NN

AR T T T

NS

—_—
-’—
@=
‘——

S I RIRITITTER

F
—

A
E.OF
F SCh
1 04 12 3
ENSED
Al ENG

T
N
N
I\g
AN
>
e\h
Y
' VDON
(/C‘
By

ﬁ L
. in
il
\§ N ]
-
EXTERIOR

1/4" VENEER —=| |~—

m VERTICAL CROSS SECTION
2

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
813.659.9197

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ROGUE VALLEY

WOOD DOOR
DOOR PANEL

PART OR ASSEMBLY:

PRODUCT:

DETAILS

BY

NOJ DATE

REVISIONS

oate: 7/31/17

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4711

SHEET 2 OF 7/

© 2017 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Rogue Valley Doors PERMANENT\B - Texas Dept of Ins\TDI - DR-XXX (Sub ID 6970)\C - Drawings\TX-4711.dwg, 3.6

¢

ATV

LAY/

MA DESIGN PRESSURE (PSF)

MULTIPOINT HARDWARE:

DEADBOLT: B6ON

HOPPE | HLS 9000 SERIES ROUNDBOLT|  +5/-75 +65/-65
(3-PT.)
SCHIAGE |\NOB: FSi +55/-75 +60/-60

EXT. SHEATHING \

INTERIOR

@)

DRYWALL E

O

1
7

EXTERIOR

71"\ VERTICAL CROSS SECTION

W Inswing shown (Outswing similar)

E

E

A)—

1

DRYWALL & é

36

34

MULTIPOINT LOCK ONLY

7“2\ HORIZONTAL CROSS SECTION

\:i/ Inswing shown (Outswing similar)

EXTERIOR

INTERIOR

/ EXT. SHEATHING

.

25

N\

A\Y

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

[ EXT. SHEATHING

|
|

-

®

o

(10) Gy (24

Z DRYWALL

m HORIZONTAL CROSS SECTION

w Inswing shown (Outswing similar)

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

=
O
=
e | &2
e >0
8 S
S [y %@
o | q(_/)
wo m P
20 |3 =»n
oS |u z9
o= | oo
o = N
TCE
2 of =
o &
4 <
o o
>_
m
%)
z
o
%)
>
w
o
L
<
o
o
=z
oatE: 7/31/17
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4711

SHEET 3 oF 7

© 2017 R.W. BUILDING CONSULTANTS INC.



*ON| SINVLINSNOZD SNIging "M’y 4108 QO

ZS8Ll—4 # NOILVHLSIOZY 40 3LvOIdILy3D SNOILOIS e SNOISIAJY V3 ToN
SYIINION3 TVYNOISSIH0¥d 40 A¥vVOod Svx3al SSOND WOLLMIA m ” M o - 7_
L6L6°6G9°CL8 'ON auoyd : e J| N w
S6SEE 4 O9UIDA 0gZ xog .o.n_\Sva~ ATBWISSY HO Livd > = 5 ¢ ©
‘ONI ‘SINVIINSNOO ONIaTINg d NERE v_A 4_
400d doOM 7emmmT_u
€ZLYOL# "3'd Svxal AFTIVA 3N208 i S| w ol
‘I'd ‘IPIWYDS ‘4 uopuki :Ag pelodeld sjuswinoog 110NA0¥d SI2181515 &
(a4
o
oZ
LLl
L
0 5
o &
o Z
O O
= 0
(<X2) z
O
3]
a
1
|
»
%)
RS oz
<
|2
=i
oz >0
o
0 I "
= m
Z -
O
o Q =
¥ ® -
oz 2 0O = O
(W] Ol=
> =5
] Ol
| =
Qe
<] =3
Olo=
o1~
Q mo
—|3 6
’ <|< O
AT ($) md
=lce
[ =)
w3
R >lea
mw
oz
o
% ©
[wH]
T
Z
S =
z S
[
= O
2 &
v
)
@]
ac
&)
<
VUlo
Eie
NE
N
mw
% ©
o
o
(W]
T
Z

9% 'BMPTTLy-X1\sBuimeld - D\(0£69 AI ANS) XXX-¥A - IQL\su] Jo 1daq sexaL - B\LNINVYId s100q Asjjep anBoy\siuald\y



"ON| SLNVLINSNOD aNIaiing *Mm'y 4 102 @

ZS8LL—4 # NOILVNLISIOZY 40 3LVOIILYID SNOISIASY
SYIINION3 WNOISSIH0dd 40 Q¥vog Svxal ONINOHONY IV A8 31vd |[ON|~ 7_
4 ) 7 .
L6LE6S9'CLY 'ON suoy —lv|x|2| =
S6SEE 14 O9MIPA 0£Z xog .o.m&\bg ‘A1GW3SSY ¥0 1yvd V = - ol &
"ONI ‘SINVLINSNOD 9NIQTINg ﬂ < g | 5_
¥00a d0OM NoLE s B
SZLPOL# "I'd Svxal AITIVA 3N904 alal 122 &
‘J'd ‘IPIWYDS ‘4 UOpuA] :Ag peaipdaig sjuswnoog 1109Na0Yd. HREIEIEIE b
a|lwn [=] [ =] w0
iy .1. o Lo
NN \( ...... G
R I\
N
72}
O
—
o
0
SN
[N)
Z
17 o)
tresels Z
risiis & dikit) =
i o " - dAll 'D'0 (dAL)
XYW .2l — —~——
m’ :0
=
< :
T | | | | I | | | |
O
5 " 2
o _._I._ ]
= 3 = I
b > & | ©O
M\ﬂ Z 0O =
d aE o Q <=2
< — << O
i o4 <
T = L [a%
= < AMn -
[+ 4
T | _ _ | _ | _ =
< \\

FRAME
\ _

2X FRAMING TO BE DESIGNED BY THE ENGINEER OR

ARCHITECT OF RECORD (TYP.)

1. ALL FRAME CORNERS SECURED WITH (3) #8 X 2-1/2" FH DEEP THREAD
WOOD SCREWS.

NOTE:

9 ‘BMPTTLy-XL\sBumelq - D\(0£69 QI ANS) XXX-¥Q - IQL\su] 40 3daq sexaL - G\LNINVNYId s100Q A3jjeA anboy\siuald\y



"ON| SLNVLINSNOIJD gaNIaging

‘M'H 4102 )

SNOISIAFY
2S8LL—4 # NOILVLSIOZY 40 3ILvOI41LY30 .
S¥33ANION3 TWNOISS3J0¥d 40 Quvos Svxal SIVIIA IHYMANYH Ad 41va [ON|N]| . ool - 7‘
LBLB'6S9'CLE 'ON 2uoyd : N ™ w
S6SEE 4 O2UIPA 0gZ xog .o.mg@ ATENESSY HO 13V N _M - g S|
"ONI ‘SINVLINSNOO 9NIaTING Y R v_A 6_
4004 doom 7E = g B
SZLYOL# '3'd Svxal AITIVA 3N90Y TEIFe w &
‘3'd ‘IPIWYDS ‘4 uopui :Ag peipdeud sjuswnooq 129Naoyd M % W m = %
. <
N/ z T L B
TR T8 > s sl os 8
o : —t >
2 30| (PO | E
LT T 1 X %)
Reof
= ®
O 0O
S D
o m
< %
(NN)
nNu = —
£ < a
W rDl._ = JWVYdd 40 WOLLO4 | -
5 WO¥4 .529°€ 1 .
// | (dAL) S22 —— | O
0000 ODDG Oﬂhﬂ 0000 Mm
= = — Sa
F 20 00 20 20 pEU _m
p : . . . . -
=3
T2
[ == :me.NN = :N _. — =
[--]
3
: =
q [O=D) = ™
=
~— O —=— v
=
=
a
w —
X < s
m N Ly
® 5 :
5 >
, 2 B
a ” - —n\'v
“F = m 7 7 N ° =
(=R C—Je(C—J - -
=18 | 1| 3
= =
= S
S ® E
[
—i
-
=
_“ :OQ b ._W.MUN
[~ ]
3
J
7N s
. =
<
25
= O
Z— = o W —
O~ < =X
PO - S@x
FQo0Oo =5E
SZWE -
50 A
E & 5 M

99 'BMp'TTLE-XL\sBuimeq - D\(0£69 QI GNS) XXX-¥Q - IQL\su] Jo 1daq sexaL - G\LNINVNYId s100Q A3]|eA anBoy\siuald\y



N\«:\:\\’:\}u}h 0 |u "
BILL OF MATERIALS LS o S Y
TEM # | DESCRIPTION MATERIAL i :&Z f\"A g £ "3%'2{) A:' g2 o D
A | 2XFRAMING (G >= 0.42) WOOD = 4.56' -] FoiiwiGin 10%7) [By g3 &7
C__|1/4"MAX.SHIM SPACE - =7 R 19 U il
D | 1/4"PFHIELCO OR TW CONCRETE SCREW (1-3/4"MIN.EMB.) | STEEL Z o, 15T FEN |38 zsog i3
F__|[#12X2-1/2"PFH WOOD SCREW STEEL ] U RIS frrin D LE 258 g5
K| #10 PFH WOOD SCREW (1-3/4" MIN. EMB.) STEEL ~ i SR . 2g° b
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL - o ‘; s -
1 JAMB WOOD ;,: § © - 2%5
7 | WEATHERSTRIP FOAM £ 3l& &%
9 20 GA. SPLICE PLATE (SIMPSON STRONG-TIE TP-37) STEEL 2 $§
10 #6 X 1/2" PPH WOOD SCREW STEEL 2 X0
14 OUTSWING THRESHOLD ALUM/COMP | 5.60" % 3 =
15 INSWING THRESHOLD ALUM/COMP 2 5.62" ' o
16 ADA THRESHOLD ALUM
23 | #8 X 3/4" PFH WOOD SCREW STEEL
24 | #12x1"PFH WOOD SCREW STEEL m
25 | #12x1-1/4"PFH WOOD SCREW STEEL Brns g‘g
26 | #8x2-1/2" FH DEEP THREAD WOOD SCREW STEEL 28 gg
" [ .o
27 | #9 x2-1/2" PFH WOOD SCREW STEEL 12 OUTSWING THRESHOLD 15 INSWING THRESHOLD g 1
29 [4.5"X 4.5"HINGE STEEL COLUMBIA COLUMBIA 28 |3 58
34 [LATCH STRIKE PLATE STEEL = Q 49
35 DEADBOLT STRIKE PLATE STEEL i «| B
36 | MULTIPOINT STRIKE PLATE STEEL N 553 . = >
37 | MULITPOINT ROUNDBOLT STRIKE DETAIL s 0 45" , g <
40 [DOOR PANEL WOOD $ ' L -
‘ | 8 e
WOOD FRAME COMPONENTS: POPLAR (G = 0.42) }—— |<— 0 0" =
. ADA THRESHOLD
ENDURA
n
zZ
®)
%)
o
o
CONCRETE ANCHOR NOTES:
1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints. ’ ’
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors W
may be required fo ensure the “"MAX. ON CENTER" dimension are not exceeded. =
3. Concrete anchor table: o
A g

OATE: 7/31/17

ITW

® 1/4:1 1 _1/4“ 2!1 4" SCALE: N TS
TAPCON owe. BY:  JK
ELCO " n " " .
umacon’| 1€ |t ! 4 S
WOOD SCREW INSTALLATION NOTES: -
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of TX—4711
wood screws fo prevent the splitting of wood. SHEET 7 oF 7

R:\Clients\Rogue Valley Doors PERMANENT\B - Texas Dept of Ins\TDI - DR-XXX (Sub ID 6970)\C - Drawings\TX-4711.dwg, 7.6

© 2017 R.W. BUILDING CONSULTANTS INC.



